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nl=1*2* .. % (n-1) *n

120
1 1 factorial(5)
n= ~
n=< - N, 24
{nx(n—l)! n>1 /
5 factorial(4)

factorial(3)

def factorial(n): N2
|1'f n == 1: return 1]<— el @b ’ /faCt{{ﬂm
return n * [factorial(n - 1)| ; factorial ()
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factorial (5)
factorial (4)
T Inx(n-1)! n>1 factorial (3)

factorial (2)
factorial (1)
return 1

def factorial(n): return 2*1 = 2
u -

|if n == 1: return lk—-cdéﬂfﬂ cetuEn 352 = 6
return n *|factoria1(n - 1)| return 4*6 = 24
return 5*24 = 120
. N
il Bl
In[]: N T
iterative:
nl = 1%2%3%_ _ *p
recursive:
n! = n * (n-1)!
1! =1
3l =3 %21 =3 %2 =¢6
21 =2 ¥ 11 = 2 * 2
1! =1

In [ ]: M def fact(n):

f=1
if n==0:
print('1")
else:
for i in range(1, n+l):
f *= i
print(f)

fact(60) # 6
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In [ ]: M def fact_rec(n):
if n == 1:
return 1
else:
return n * fact_rec(n-1)

print(fact_rec(60)) # 6
In[]: N [

2*¥3 = 2 + (2*¥2) =2 + 4 =6

22 = 2 + (2%¥1) =2 + 2 =4

2*%1 = 2

def mul(x,y):
if y == 0:
return 0
elif y == 1:
return Xx
else:
return x + mul(x,y-1)

print(mul(2,3)) #6

In[]: M
2 %k 3 = 2 % (2%%2) =2 % 4 =8
2 %k 2 = 2 % (2%%1) =2 % 2 =4
2 %% 1 = 2

def pow_rec(x,y):
if y == 0:
return 1
elif x ==
return 0
elif y == 1:
return x
else:
return x * pow_rec(x,y-1)

print(pow_rec(3,2)) # 9
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In[ ]: WM # fibonacci (10) : o, 1, 1, 2, 3, 5, 8

def fibo(n):

r=11]

a=20

b =1

while a < n:
r.append(a)
a, b =b, atb

return r

print(fibo(10)) # [0, 1, 1, 2, 3, 5, 8]
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mport sys % python fibonacciR.py 5
5
def fib(n):
( ) % python fibonacciR.py 10
if n == 0: return 0 55
if n == 1: return 1 % python fibonacciR.py 12
. . 144
return fib(n-1) + fib(n-2) % python fibonacciR.py 50 .
Jsb ) s
n = int(sys.argv[1]) b Sl o,
. % python fibonacciR.py 60 ’ 4
print(fib(n)) Vo
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In [ ]: M def fibo(n):
if n ==

return ©

elif n == 1:

return 1

else:

return fibo(n-1) + fibo(n-2)

print(fibo(4)) # 3
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import sys
memo = [0] * 200

def fib(n):

if n == 0: return 0

Sole peilool O
Syl b 4 jglhite & wl)] G 5l eolaial O
0A wl;u J.g'oLa.o ‘SaLm

3800 Al 1) Jlade o] wygo ool wé 00

if n == 1: return 1 OIS 1 1y o] s 9 055 0,033 )]
if memo[n] == % python fibonacciMm.py 60
memo[n] = fib(n-1) + fib(n-2) 1548008755920

return memol[n]

n = int(sys.argv[1])
print(fib(n))

memo = [@] * 200

def fib(n):
if n ==
return 0
if n ==
return 1
if memo [n] ==

% python fibonacciM.py 80
23416728348467685

% python fibonacciMm.py 100
354224848179261915075

memo[n] = fib(n-1) + fib(n-2)

return memo[n]

print(fib(60))
def f(1lst):
if len(1lst) == 1:
return 1lst[0]
else:

return 1st[0] + f(1lst[1:])

a=1[2,4,5,6,7]
print(f(a)) # 24

f([2, 4, 5, 6, 7])
f([4, 5, 6, 7])
f([5, 6, 7])

f([6, 7])

F(L71) =
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2 + f([4, 5, 6, 7]) =2 + 22 = 24
4 + f([5, 6, 7]) = 4 + 18 = 22

5 + f([6, 7]) = 5 + 13 = 18

6 + f([7]) =6+ 7 =13

7
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In [ ]: M def sum_digits(n):
if n ==
return ©
else:
return n % 10 + sum_digits(int(n/10))

print(sum_digits(345)) # 345 = 3+4+5=12
sum_digits(345)

sum_digits(34)
sum_digits(3)

5 + sum_digits(34)
4 + sum_digits(3)
3 + sum_digits(9) =
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In[]: M #n+ (n-2) +(n-4) +...

def sum_series(n):
ifn<1:
return ©
else:
return n + sum_series(n-2)

print(sum_series(10)) #10 + 8 + 6 + 4 + 2 = 30

In [ ]: M def f(n,base):
s = '0123456789ABCDEF"
if n < base:
return s[n]
else:
return f(n//base , base) + s[ n % base]

print(f(10,16)) # A
print(£(25,16)) # 19

£(25,16) = f(1,16) +s[9] = 149 = 19
f(1,16) = s[1] =1

print(£(8,2)) # 1000

£(8,2) = f(4,2) + s[0] = 100 + © = 1000
f(4,2) = f(2,2) + s[0] =16 + 0 = 100
f(2,2) = f(1,2) + s[@e] =1 + 0 = 10
f(1,2) = s[1] =1

print(f£(16,16)) # 10
print(£(129,2)) # 10000001
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In [ ]: M def binary_search(lst, x, start=0, end=None):
if end is None:
end = len(lst) - 1
if start > end:
return False
mid = (start + end) // 2
if x == lst[mid]:
return mid
if x < lst[mid]:
return binary search(lst, x, start, mid - 1)
return binary_search(lst, x, mid + 1, end)

a=[2, 4,7, 12, 19, 25, 38]
print(binary_search(a, 19 )) # 4
print(binary_search(a, 4 )) # 1
print(binary_search(a, 20)) # False
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def H(n): ﬂ
return H(n-1) + 1.0/n
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def H(n):

if n == 1: return 1.0 *

return H(n) + 1.0/n
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£ib (5)

fib (4)

£ib (3)

fib (2)
def fib(n): £ib(2)
return 1
if n == 0: return 0 £ib (0)
return 0

if n == 1: return 1 return 1+0 = 1
£ib(1) 5,1,,Lz{ouwm
return fib(n-1) + fib(n-2) return 1 :

return 1+1 = 2
£ib (2)
£ib (1)
return 1
£ib (0)
return 0
return 1+0 = 1

Fn=Fn-1+Fn»2
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Codes and Projects (click here)_(https://github.com/Amin-Golzari-Oskouei/Python-

Programming-Course-Basic-2021) slides and videos (click here)

(https://drive.google.com/drive/folders/1ZsQjBJJ4UAAR9zrGxm3c4grhnvGBUYHw)
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